Efficiency vs Dxy(PV)
1.2

=
T

o
©

efficiency vs dxy(PV)

o
o2}

o
»

=20 -15 -10 -5 0 5 10 15 20
TP dxy(PV) (cm)

—=— DQM_old

[Efficiend " DQV_V0001_R000000001_Global__CMSSW_X_Y_Z_RECO

< 1.2

2 F H
a f :
> r .
o - Bt
%) I .
> I :
> F .
(8] - -
& 0.8F :
Q L N
L L .
= N
3] :

0.

=-0.8-06-04-02 0 0.2 04 0.6 0.8
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

=30 -20 -10 O 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
1.2

[y
i

efficiency vs dz(PV)
o
0

o
o2}

o
N

-1 -0.5 0 0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


